w0
~
a4
<
a
DN
o
RS
=
Ly
Q
W
2
tn
NS
Q
KN
Qx
L
Ly
~
tn

=

fluo sesodind uonEWIOjUl J0j PBSN 2JE JUSLUNDJ0P SIY] Ul papn|aul Blep pue siagqunu yed ‘suondussap jonpoud ||y
Jipljbewe |bjig a>apes 13|49 aA LIB|BIBLINU BAlEd ‘LUBjEWE|YISE UnIN WD IYEPUBLLNYOP NG XK

SINALI MM3N




A TENOROT
/\\STEERING&SUSPENSIDN PARTS
TEKNOROT REF: AF-446

ApAPTABLE. ALFA ROMEO
Stabilizer Bar Link Aluminium Type / From 1

-13-17

=
=5

; YEAR ONLY
Lisé 2018-2024

Weight: 0,234 Length: 110  Bolt Metric: M12X1,75

MODEL NO BODY YEAR DIRECTION

OEM NO

GIULIA

952 2016- Rear

50548354, 68357260AA

TEKNOROT REF: AF-446

ADAPTABLE ALFA ROMEOQO
Stabilizer Bar Link Aluminium Type / From 1

-13-17

= =

< : YEAR ONLY
u 2018-2024

Weight: 0,234 Length: 110

Bolt Metric: M12X1,75

MODEL NO BODY YEAR DIRECTION

OEM NO

STELVIO

949 2017- Rear

50548354, 68357260AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TXNOROT

/\’ STEERING &8 SUSPENSION PARTS r2024

TEKNOROT REF: BU-211 ADAPTABLE BUICK
Tie Rod End 2.0 Turbo

Weight: 0,73 Length: 158 Bolt Metric: M12X1,75 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

ENVISION 1st Gen 2014-2021 Front Right 23272690
TEKNOROT REF: BU-212 ADAPTABLE BUICK
Tie Rod End 2.0 Turbo

Weight: 0,73 Length: 158 Bolt Metric: M12X1,75 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

ENVISION 1st Gen 2014-2021 Front Left 23272689

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeCNOROT

STEERING &8 SUSPENSION PARTS

/
®

TEKNOROT REF: CH-128

Control Arm and Ball Joint

ApAPTABLE CHEVROLET

Performance Ride &

Handling Suspension

-

@t

Weight: 1,91 Length: 426,5 Bolt Metric: M14X2
MODEL NO BODY YEAR DIRECTION OEM NO
CAMARO 6th Gen 2016- Front Right 84051644
Lower Forward
COMPONENTS NUMBER NAME DIRECTION OEM NO
i Control Arm * *
| CH-BS164 Bushing Front Lower 84051644*, 84051643

TEKNOROT REF: CH-129

Control Arm and Ball Joint

ApAPTABLE CHEVROLET

Performance Ride &

Handling Suspension

:

Weight: 1,91 Length: 426,5 Bolt Metric: M14X2
MODEL NO BODY YEAR  DIRECTION OEM NO
CAMARO 6th Gen 2016- Lo; re ‘;”,ﬁcfrir J 84051643
COMPONENTS NUMBER NAME  DIRECTION OEM NO
CH-BS164 C‘;’Zg ‘,’7’1%’ ™ Front Lower 84051644% 84051643*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm


Front Lower

Front Lower


{$ TXNOROT 024

TEKNOROT REF: CH-475A ApAPTABLE CHEVROLET
Tie Rod End

L )

Weight: 0,86 Length: 134,3 Bolt Metric: M14X2 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
SILVERADO 2500 GMT900 2011-2018 Front Outer 84467789, 22913602
TEKNOROT REF: CH-475A ApAPTABLE CHEVROLET
Tie Rod End
L §

Weight: 0,86 Length: 134,3 Bolt Metric: M14X2 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

SILVERADO 2500 T1XX 2019- Front Outer 84467789, 22913602

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeCNOROT
\}STEERINGESUSPENSIDN PARTS 24

TEKNOROT REF: CH-475A ApAPTABLE CHEVROLET
Tie Rod End

Weight: 0,86 Length: 134,3 Bolt Metric: M14X2 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
SILVERADO 3500 T1XX 2019- Front Outer 84467789, 22913602
TEKNOROT REF: CH-475A ADAPTABLE GMC
Tie Rod End
L §
=2

Weight: 0,86 Length: 134,3 Bolt Metric: M14X2 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

SIERRA 2500 3rd Gen 2014-2018 Front Outer 84467789, 22913602

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: CH-475A ADAPTABLE GMC
Tie Rod End

Weight: 0,86 Length: 134,3 Bolt Metric: M14X2 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
SIERRA 2500 4th Gen 2019- Front Outer 84467789, 22913602
TEKNOROT REF: CH-475A ADAPTABLE GMC
Tie Rod End

4

Weight: 0,86 Length: 134,3 Bolt Metric: M14X2 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

SIERRA 3500 3rd Gen 2019- Front Outer 84467789, 22913602

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: CR-444 apAPTABLE CHRYSLER
Ball Joint

Weight: 0,33 Length: 85,7

MODEL NO BODY YEAR DIRECTION
PT CRUISER 1st gen 2001-2010 Front Lower 4656730AH, 4656731AH
TEKNOROT REF: CR-444 abapTABLE DODGE
Ball Joint

Weight: 0,33 Length: 85,7

MODEL NO BODY YEAR DIRECTION OEM NO

NEON 2nd Gen 1999-2005 Front Lower 4656730AH, 4656731AH

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

STEERING &8 SUSPENSION PARTS 2024

TEKNOROT REF: DO-443 apAPTABLE CHRYSLER
Tie Rod Standard Susp.

B -miiin

Weight: 0,614 Length: 292  Bolt Metric: M14X1,5 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
PT CRUISER 1st gen 2001-2010 Front EV404, 465560222224/54093460'4'4'
TEKNOROT REF: DO-443 ADAPTABLE DODGE
Tie Rod Standard Susp.
YEAR ONLY
2000-2002

8-

Weight: 0,514 Length: 292  Bolt Metric: M14X1,5 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

EV404, 4656747AH, 5093460AA,

NEON 2nd Gen 1999-2005 Front 5093465AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: H-1408 ApAPTABLE HONDA

Lateral Arm

=

Weight: 3,358 Length: 391,4

MODEL NO BODY YEAR DIRECTION OEM NO
CIVIC FE/FL 2022- Rear Right 52360T20A10
Lower
TEKNOROT REF: H-1409 ADAPTABLE HONDA
Lateral Arm

: € L

Weight: 3,358 Length: 391,4

MODEL NO BODY YEAR DIRECTION OEM NO
CIVIC FE/FL 2022- Rear Left 52365T20A10
Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: HY-116
Stabilizer Bar Link

Weight: 0,36 Length: 94  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

TUCSON NX4 2022-

TEKNOROT REF: HY-116
Stabilizer Bar Link

Weight: 0,36 Length: 94  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

SPORTAGE % 2022-

ADAPTABLE HYUNDA|

024

DIRECTION

Rear Right

OEM NO

55631N9000

ADAPTABLE KA

DIRECTION

Rear Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

555631N9000



TEKNOROT REF: HY-117
Stabilizer Bar Link

s

Weight: 0,36 Length: 94  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

TUCSON NX4 2022-

TEKNOROT REF: HY-117
Stabilizer Bar Link

s

Weight: 0,36 Length: 94  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

SPORTAGE % 2022-

ADAPTABLE HYUNDA|

024

DIRECTION

Rear Left

OEM NO

55630N9000

ADAPTABLE KA

DIRECTION

Rear Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

555630N9000



STEERING &8 SUSPENSION PARTS

L ; TXNOROT

TEKNOROT REF: HY-118

Lateral Arm

FemT T

Weight: 1,112 Length: 464

MODEL NO BODY

IONIQ V NE

TEKNOROT REF: HY-118

Lateral Arm

Gt ——y

Weight: 1,112 Length: 464

MODEL NO BODY

IONIQ VI NE

YEAR

2022-

YEAR

2022-

ber 2024

ADAPTABLE HYUNDA|

DIRECTION

Rear Upper

OEM NO

55250G1000

ADAPTABLE HYUNDA|

DIRECTION

Rear Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

55250G1000



&} e Eﬁw(f;mgﬁg Ant

TEKNOROT REF: HY-118 ADAPTABLE KA

Lateral Arm

Weight: 1,112 Length: 464

MODEL NO BODY YEAR DIRECTION OEM NO
EV6 2023- Rear Upper 55250G1000
TEKNOROT REF: M-166 ApAPTABLE MIERCEDES
Stabilizer Bar Link

—

Weight: 0,624 Length: 175,5 Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

SL-CLASS R230 2001-2011 Front Right 2303200689, A2303200689

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



=NOROT
/\}STEERINGESUSPENSIDN PARTS 024

TEKNOROT REF: M-167 ApAPTABLE MIERCEDES
Stabilizer Bar Link

’i

Weight: 0,524 Length: 175,5 Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

SL-CLASS R230 2001-2011 Front Left 2303200589, A2303200589
TEKNOROT REF: MA-128 ADAPTABLE MIAZDA
Control Arm and Ball Joint From 3-27-20/ 2.5L

Eng/2.0L Eng

Weight: 4,488 Length: 364,6

MODEL NO BODY YEAR DIRECTION OEM NO
3 BP 2019- Front Right BCKE34300K
Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: MA-129 apArTABLE MAZDA
Control Arm and Ball Joint From 3-27-20/ 2.5L
Eng/2.0L Eng

Weight: 4,488 Length: 364,6

MODEL NO BODY YEAR DIRECTION OEM NO
3 BP 2019- Front Left BCKE34350K
Lower
TEKNOROT REF: MA-141 ADAPTABLE MIAZDA
Tie Rod End

L«-

Weight: 0,492 Length: 140 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

MX-30 2021- Front DFR532280

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




e

£\ TXNOROT

\J STEERING &8 SUSPENSION PARTS
TEKNOROT REF: N-108

Control Arm and Ball Joint

Weight: 3,432 Length: 400,5

MODEL NO BODY YEAR DIRECTION
X-TRAIL 733 2021- Front Right
Lower
COMPONENTS NUMBER NAME DIRECTION
@ NI-BS168 ControI.Arm Front Lower
~ Bushing Inner
Control Arm Front Lower
% NI-BS169 Bushing Outer

TEKNOROT REF: N-109

Control Arm and Ball Joint

Weight: 3,432 Length: 400,5

MODEL NO BODY YEAR DIRECTION
X-TRAIL 733 2021- Front Left

Lower

COMPONENTS NUMBER NAME DIRECTION

@ NI-BS168 Control'Arm Front Lower
Bushing Inner

Control Arm Front Lower
- NI-BS169 Bushing Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLE NISSAN

OEM NO

545006RMOA

OEM NO

545006UAOA*, 545016UAOA*

545006UAOA*, 545016UAOA*

ADAPTABLE NISSAN

OEM NO

545016RMOA

OEM NO

545006UAOA*, 545016UAOA*

545006UAOA*, 545016UA0A*



/
1\} i ng(f;ﬂgﬁg I

TEKNOROT REF: P-1138

Lateral Arm

YD

Weight: 0,736 Length: 277

MODEL NO BODY

508 R83

TEKNOROT REF: P-1138

Lateral Arm

Weight: 0,736 Length: 277

MODEL NO BODY

YEAR

2018-

YEAR

2017-

ADAPTABLE PEUGEQOT

DIRECTION

Rear

OEM NO

9810075280

ADAPTABLE DS

DIRECTION

Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

9810075280



/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: T-198

Control Arm and Ball Joint

Weight: 4,812 Length: 424  Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION
SIENNA XL40 2020- Front Right
Lower
COMPONENTS NUMBER NAME DIRECTION
Suspension
‘ T-1134 Ball Joint Front
TEKNOROT REF: T-198S
Control Arm
Weight: 3,398 Length: 361,5
MODEL NO BODY YEAR DIRECTION
SIENNA XL40 2020- Front Right
Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLE TOYQOTA

OEM NO

4806808050

OEM NO

4333009B60

ADAPTABLE TOYQOTA

OEM NO

4806808050


4333009B60


/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: T-199

Control Arm and Ball Joint

Weight: 4,812 Length: 424  Bolt Metric: M14X1,5

ADAPTABLE TOYQOTA

OEM NO

4806908050

OEM NO

4333009B60

ADAPTABLE TOYQOTA

MODEL NO BODY YEAR DIRECTION
SIENNA XL40 2020- Front Left
Lower
COMPONENTS NUMBER NAME DIRECTION
Suspension
‘ T-1134 Ball Joint Front
TEKNOROT REF: T-199S
Control Arm
Weight: 3,398 Length: 361,5
MODEL NO BODY YEAR DIRECTION
SIENNA XL40 2020- Front Left
Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4806908050


4333009B60


(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: T-208

Lateral Arm

Weight: 4,51 Length: 407
MODEL NO BODY
SIENNA XL40

TEKNOROT REF: T-209

Lateral Arm

Weight: 4,51 Length: 407
MODEL NO BODY
SIENNA XL40

YEAR

2020-

YEAR

2020-

ADAPTABLE TOYQOTA

DIRECTION

Rear Right

OEM NO

4876008010

ADAPTABLE TOYQOTA

DIRECTION

Rear Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4878008010



W ENoROT

TEKNOROT REF: TS-278

Lateral Arm

Weight: 0,932 Length: 295

MODEL NO BODY

MODEL S

TEKNOROT REF: TS-278K
Lateral Arm Kit

/
¢ g
¢ P

Weight: 1,248 Length: 295

MODEL NO BODY

MODEL S

YEAR

2021-

YEAR

2021-

ADAPTABLE TESLA

DIRECTION

Rear Right
Upper

OEM NO

142042299G, 142042200G

ADAPTABLE TESLA

DIRECTION

Rear Right
Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

142042299G, 142042200G



W ENoROT

TEKNOROT REF: TS-279

Lateral Arm

A y
R - 3

Weight: 0,932 Length: 295

MODEL NO BODY

MODEL S

TEKNOROT REF: TS-279K
Lateral Arm Kit

=

o v
dé>]
Weight: 1,248 Length: 295

MODEL NO BODY

MODEL S

YEAR

2021-

YEAR

2021-

ADAPTABLE TESLA

DIRECTION

Rear Left
Upper

OEM NO

142042199G, 142042100G

ADAPTABLE TESLA

DIRECTION

Rear Left
Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

142042199G, 142042100G





